

$$A = \frac{1}{\sqrt{2}+1} + \frac{1}{\sqrt{3}+\sqrt{2}} + \frac{1}{2+\sqrt{3}} = \cancel{\sqrt{2}-1} + \cancel{\sqrt{3}-\sqrt{2}} + \cancel{2-\sqrt{3}} = 1$$

Ταίρια χωρίσματα κάθε κλάσσης

$$\frac{1}{\sqrt{2}+1} = \frac{1(\sqrt{2}-1)}{(\sqrt{2}+1)(\sqrt{2}-1)} = \frac{\sqrt{2}-1}{(\sqrt{2})^2-1^2} = \frac{\sqrt{2}-1}{2-1} = \sqrt{2}-1$$

$$\frac{1}{\sqrt{3}+\sqrt{2}} = \frac{1(\sqrt{3}-\sqrt{2})}{(\sqrt{3}+\sqrt{2})(\sqrt{3}-\sqrt{2})} = \frac{\sqrt{3}-\sqrt{2}}{(\sqrt{3})^2-(\sqrt{2})^2} = \frac{\sqrt{3}-\sqrt{2}}{3-2} = \sqrt{3}-\sqrt{2}$$

$$\frac{1}{2+\sqrt{3}} = \frac{1(2-\sqrt{3})}{(2+\sqrt{3})(2-\sqrt{3})} = \frac{2-\sqrt{3}}{2^2-(\sqrt{3})^2} = \frac{2-\sqrt{3}}{4-3} = 2-\sqrt{3}$$

😊

агу. 2 - B'OM / Σ ε λ 75

$$(i) \quad \underline{(3 + 2\sqrt{7})^2} = 3^2 + \underline{2 \cdot 3 \cdot 2\sqrt{7}} + (2\sqrt{7})^2 = 9 + 12\sqrt{7} + 4\sqrt{7}^2 = 9 + 12\sqrt{7} + 28 = 37 + 12\sqrt{7}.$$

$$(3 - 2\sqrt{7})^2 = 3^2 - 2 \cdot 3 \cdot 2\sqrt{7} + (2\sqrt{7})^2 = 9 - 12\sqrt{7} + 4\sqrt{7}^2$$

$$= 9 - 12\sqrt{7} + 28 = 37 - 12\sqrt{7}$$

$$(ii) \quad \sqrt{37 + 12\sqrt{7}} - \sqrt{37 - 12\sqrt{7}} = \sqrt{(3 + 2\sqrt{7})^2} - \sqrt{(3 - 2\sqrt{7})^2} =$$
$$= |3 + 2\sqrt{7}| - |3 - 2\sqrt{7}| = 3 + 2\sqrt{7} - (-3 + 2\sqrt{7}) =$$
$$= 3 + 2\sqrt{7} + 3 - 2\sqrt{7} = 6$$



Idiomata 8.

$$\sqrt[n]{a^{v \cdot p}} = \sqrt[n]{a^p}$$

A 61w62s / Σελ. 75
261c. 1, 3, 5 - B'OM

Παραδείγματα

$$\sqrt[6]{2^{10}} = \sqrt[3]{2^5}$$

$$6 = 2 \cdot 3$$

$$10 = 2 \cdot 5$$

2

$$\sqrt[6]{5^{12}} = \sqrt[2]{5^4} = \sqrt{5^4} = 5^2$$

3

$$\sqrt{a^v} = a^{\frac{v}{2}}$$

$$\sqrt[2]{5} = \sqrt{5}$$

Nd für Anwendungen

$$\sqrt[10]{2^5}$$

$$\sqrt[14]{a^{21}}$$

$$\sqrt[21]{a^{15}}$$